ERSOFEERMBFTILARIZUT LTI IRE

BB FR30E8ASH (K)
KI5 RHARATLTHST
fRLAR— OUT ®@R®@®® IN (011 I BMREILIHS
I K 2 {Ex#2| GROSS| HD NET | &Ft4ER [[-to4 B £ {8%#2| GROSS| HD NET | SEtE#
a5 0 s | WK IE
B B il ‘ L s0 | 66 |+1.2]67.2 |eom2~A 28 i ANl ‘ r mesmn) O3 |+7.2]70.2 | 1328578
(Team Fix) (—)
W > J = e = oy <
L ﬁ%‘ I sL | /5 |7.2 |167.8 nwura| |29fz B 82 | BB ©F 2nixe| B9 |+1.2]70.2 | eamor A
(HH>TRAR! ) (—)
iz B /B nE= INEIR —1
N Y Ty P U I R ) e
(BU>C) (OFHD)
;5 | sRE B BR — | & R
s PP ‘ﬁ BE | pine 67 |+1.2|68.2 |1aora| | 3141 H# “m Gl 81 |10.8 |70.2 | ssme~ A
(OEFEND) (v bFPITP—2 1)
EA [geR | HA  ORR
5 i ks Big‘ 2nine| OO |+2.4|68.4 |wsemera| | 32 =L | (4 13.6 |70.4 |osiirA
(R=2) (WypYyvY)
g o = =
6 i X8 9 ‘ P 2ntxt| OO | +2.4]68.4 | 1s0m17 8 331 R RB| K = 2ntxt| ©F | +3.6]70.6 | 142278
(ZANAR5—) (BUDIVZA)
\ |E T2 _% ; D :
76 AL gﬁ%‘ FBE8 sy | 65 | +3.6]68.6 | 1321978 34 fi ne = i W 67 | +3.6[70.6 |12oms~ A
(BHWY) (NEFEILIEYS—)
=B @8 7 RE 8 1
s | = 2 ‘ AT RE wu | 64 |+4.8|68.8 |usmors 35 {i aR B ‘ Y Zi wu | 67 |+3.6]70.6 | wmurn
() (F—AZ=H)
o =0 2| A8 R a0 | 64 |+4.8]68.8 | waors| |som LE B ELES o] 67 143.6]70.6 | somorn
(F=LAVAY) (F—Lh93 (KocA) )
l“,... gaN 2y = = = - g —
104 B BN ‘ BN RE | B4 |+4.8|68.8 | mris . B% 5h T A amens| 72 11.2 170.8 | 111072
(—) (HUDIYZB)
¥ il %
114 BE ME « | 70 |1.2 l68.8 |sauirn 38 4 R ER | KB BT s | 72 11.2 170.8 | 1amsrs
(BEREXLSEY ) (—)
12 ﬁ§ﬁ EORN- R 70 1 . 2 688 87m14 A 39 fi J”*j ﬁ"‘a\ Ezg {%%,D\ fzl] 65 +6 710 138857 A
(OK 1) (k= (VB3 )
B S RO Yl BAE
R IR 63 | +6 60,0 |smors| | a0t |75 wx | w0 wE| 65 | +6 (720 | e
(FYFS1FY) (SEBEERE)
o = 4@y a4 = AV —
144 ] IE?E‘ = F 50 | 69 10.0 |69.0 | asors i fufl £ ‘ WA sAZ « | 7110.0 [72.0 | wosorn
(5H) (FARY/ 7B )
| INR Bl B B fEHE
15 fi Il N = | 69 /0.0 169.0 | m#ns-=a a2 | x ‘ L wy | 64 | +7.2|71.2 | vewurs
PS5OV RE40) (ZTRVYF)
=+ | = =3 = I\
16 4 hH TofE | BE EE | 62 147.2169.2 | w1255 3 e YN so | 70 |+1.2|71.2 | wamers
(<FSAF—L) (BN ADY)
SB BY = 3 il 0
174 =5 JZEB‘ B RF su | 68 |+1.2]69.2 | uomiorn sy R A | HLE EXR | 70 142.2| 712 | 2og1rs
(B&DTE) (—)
Fa —F =iE =
18 fi e #e | ® s wwum| 61 | +8.4169.4 |ssmrrA 45 {31 &L B nooesn) {0 | 41.2|71.2 |samsra
(F=L1vTR) (Fv0O7V)
=5 # R -
19 i B _FA ‘ R 50k s 67 +2.4169.4 | 132778 46 fiL i ‘ =4 % 2AARA 69 +2.4|71.4 |14em178
(Za—=/X=7) (BDPDE )
20 fi RR 67 ‘ A AE anire| OF |+2.4|69.4 |uswirA 47 i =X 2T ‘ E ik anena| {1 | +1.2]72.2 | 1somarn
(8%) (STI)
=B # BE B "B & By I
R R wo | (2 |2.4 |69.6 |wemora| | 484 EE ‘ B wu | 77 3.6 |73.4 |wmsrA
(Z=0GB) (S&K)
—_ p e =
22 4 mA RZ ‘ R BF roes| 65 | +4.8]69.8 | eern a9t MR EFE | BHF 03 vooes| 75 1.2 |73.8 | s2mer s
(—) (F—ABA)
i 8 | JmEE E5F | I F
EE s v | 65 |+4.8/69.8 |semorn| | sot |17 i Lo | 80 16.0 [72.0 |sesrs
(FREHD) (SAU)
=5 E = S S,\ = HEAT :;22
2a fi @K /gff‘ wx =3 sl 64 | +6 170.0 | 0err5 5148 BER =|3A ‘ Wy = arerl 86 110.8 |75.2 |somzr s
(—) (0AQ3)
& T \ -H—% 41 ?\‘:ﬁ' N :E\E\
25 1 BB T ‘ 5 w | 70 0.0 [70.0 | oern 52 i B | bR BE vooes| 79 | 3.6 | 75.4 | soitizr
(—) (M4+M2)
[E El T J 3}
26 4 I 70k ‘ fEE K ] 70 10.0 170.0 | sz 5340 ™ BEE | MB 88% « | 8317.2 |75.8 | imiern
(EFLTRAR! ) (v bFPEAVE)
R S| =B RA%
o4 | A Bl AR | exe 76 16.0 |70.0 | wmurr| | 544 R A amx | 80 |2.4 |77.6 |osmer5
(STI) (3230)




